[ X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX KKK KXKKXL XKL XKL XKL LKL LXK KKK KKK KKK K KKLKKKKKKME6/1-6400507-00001XX

X

[Page = 0001]

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9.:9.0,9:9.0:9:9.0,9:9.0:9:9,0:9:9.0,0:9.0:9:9.0,9:9.0,9:9.0.9:9.0:9:9.0:9:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢

Diff03 Answers for No.9012
A=(f(x)=77(7x+6)") .2=(f‘(x)=4(2x3+2x+11)3(6x2+2))
5 12x°
I=|f(x)=—F— 4= f(x)=—————
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Diff03 Answers for No.9016

Ansl = 5(6x°+2) 7
S=|f(x)=- - 6= f(x)= o
(2xX +2x+3) 2(3-7x)
X ) ( 12(3x—4)2]
T=(f(x)=3(5x-8Y+15(3x—4)(5x-8)) 8= f(x)=-—""—
L (5x—-28) i
I o 300 |1 | M
A= ;;z___:7 a
/= [F(E) = 4] I =[F(k)=1128] dP(3-2t) 2
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Diff03 Answers for No.9018
I=(f(x)=12(2x+5)) .2=(f‘(x):5(4x3—7x+7)4(12x2—7))
; (f() 7 j =l o) 32
= X)=—" — 4= X)=—"~—
24 7x—-6 (8x4—7)2
Ansl = 4(6x*-3)
S=|f(x)=- : 6=|f(x)= e
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I o 36t |1 | M
A= Zzﬁ a
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M
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Diff03 Answers for No.9036

i I =(f(x)=20(4x+3)") 2=(P(x)=4 (2 +2x+5) (4x+2))
3 (f() 4 ) 4=| f(x) 2 J
J = X)=—"F7—— 4= X)=—"~—
J5-8x (7x6+3)2

Ansl = 3(6x°+5) 1
S=f(x)=- 2 6= f(x)=- (3/2)
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Diff03 Answers for No.9037
d=(f(x)=35(5x+6)% .2=(f’(x)=6(2x2+2x+7)5(4x+2))
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Diff03 Answers for No.9138
. , i
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A=f(x)=-—""
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e
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(3xX +4x—4) 2(3-7x)
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Diff03 Answers for No.9602
B 5
2=(f(x)=6(3x+7x+7) (6x+7))
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; (f( : 3 j p £(x) 12x3 J
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S=f(x)=- . 6= f(x)=- (3/2)
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Diff03 Answers for No.9616

d=(f(x)=50(5x—-4)")

3
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(2x2+2x+7)

Ansl =

T=(f(x)=5(4x-7Y+20(5x-6)(4x-7)"

1 =[F(k)=372]

| I=[F'(k)=16] B
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A=1f(x)=—" "5
(5x —8)

5
.6:[f(x): s
2(8=5x)
55(5x—6)4]
S=|f(x)=——"""——
( (x) (4x-17)° ]

i dx 9% ¢ |
s
64
{ﬁ_i}
B dx_ﬁ S
[48«/?
5

2

[N\

3

, 4.293}

NQEX® >~ X

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9.:9.0,9:9.0:9:9.0,9:9.0:9:9,0:9:9.0,0:9.0:9:9.0,9:9.0,9:9.0.9:9.0:9:9.0:9:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXKXXXXXXXX XKL XXX XXX XKLL XKL XKL LKL KKK XKL KKK KKK KKK K KKKKKKKKKME6/1-6400507-00009XX

X

Diff03 Answers for No.10152

d=(f(x)=48(6x+5)") .2=(f’(x)=6(2x3+7x—7)5(6x2+7))_
; (f( : 1 ] s=| £ 24 x°
3= X)="—"F—— 4= X)=—"-
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M
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7
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5
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d
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Diff03 Answers for No.11754
B 3
I=(f(x)=63(7x-3) 2=(F(x)=42x+2x+9) (4x+2))

e

0x J
4= f(x)———
-38)

X
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Ansl = 4(9x°-5)
= ()=~ 5 6=] oy = ——
(3x =5x+5) (7-8x)
. 5 [ 260 (3 x — 4)}
T=(f(x)=15Gx-4) (Tx+8)+7(3x—4)) 8= -
L (7x+8) i
o 24¢ ] | M
g
1= [F(k) = 64] = L0 = 1065 o )
2= 3 T S s [F(k)—32674} L Amis {E:_X} e
M
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Diff03 Answers for No.11841
I=(f(x)=40(-3+5x)) .2:(f‘(x):4(3x2+4x—4)3(6x+4))
1 35"
-3=(f(x)=—J 4=|f(x)=——"—
V2x-3 (7x5—2)2J
Ansl = 3(6x°+2) 3
S=|f(x)=- 4 6= f(x)= (3/2)
(2x +2x+5) 2(7-3x)
\ . [ 425(8x—3)4J
7=(f(x)=40(8x-3)"(7Tx+8)+7(8x-3)) 8=|f(x)= p
L (7x+8) i
I o 360 |1 | M
A= Ezﬁ a
1=[F(k)=10] A =1F(k)=-10] dP(6+4t ) }tz
= o - = 35 = =| 7 =—F
Ans2 [.2:[F'(k)20]}’ Ans3 ‘2:{1:,(]{):?} , Ans4 _{dx_ﬁ} ol @
M
.3:[M, 0.142} U
L 1225 I
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Diff03 Answers for No.11842

I=(f(x)=30(3x-7))

4
B=|f(x)=—F—
((X) f\/—7+8xj

Ansl = [ 4(6x°+2) J
S=|f(x)=- -
(2x +2x+3)
T=(f(x)=5@x+4) " +12(=3+5x)(3x+4))
- 1 =[F(k)=720]
Ansz:[Z:[F'(k):-l%J’ Ans3 = .2:[F'(k)=1;1—4}’ Ansd =
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S=1f(x)=
(3x+4)
_{@_ 84 t }
dt (6+t2)2
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Diff03 Answers for No.11901
N X _
2=(f(x)=4(2x+5x-5) (6x°+5))

[ 35 x* J
A=f(x)=-—""7
(7x° —8)

d=(f(x)=42(7x-28))

'3:(f(x):_2w/85—5xJ

Ansl = 7(6x°+2) 5
S=|f(x)=- : b= f(x)=~ (3/2)
(2xX +2x+5) 2(5x-06)
) X [ 188(8x+5)3J
T=(f(x)=83x-4)"+12(8x+5)(3x—4)) 8= f(x)=- ;
i (3x—4) ]
[ [ax 30¢ |1 | M
A= Zzﬁ a
| = [F(k) =-6] 1 =[F(k)=1460] dP(5+3t) }t,
_| 1= =" _ 1340 - I
Ans2 [2:[F,(k):_30]}, Ans3 '2:[F,(k): - } Ans4 .Z_Lx_ﬁ} @
[101/23 } M
3=|————0.091 U
i 529 7
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Diff03 Answers for No.11947

I=(f(x)=63(7x-5)%)

3
= f(x)=—FT—
((X) 21/3x—5j
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.2=(f‘(x):5(2x2+2x+9)4(4x+2))

21 5 J
A=f(x)=-—""
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Ansl = 7(6x°+2) 5
S=|f(x)=- " b= f(x)=- (3/2)
(2x +2x+3) 2(5x-4)
. ) [ 252(3x+8)3J
T=(f(x)=12(3x+8) (6x-5)+6(3x+8)") 8=| f(x)=- -
L (6x-5) i
I de 361 M
.]={Z=ﬁ} a
1=[F(k)=10] 1= [F(k)=3000] dP(3 +2t : ltz
_| 1= = _ 1377 - _| £ __2
Ans2 [2=[F'(k)=-56]}’ Ans3 .2:[1:'(/():3—2}’ Ansd 'Z‘LX‘ﬁ} |l @
M
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Diff03 Answers for No.11989
d=(f(x)=25(-7T+5x)"

'3:[f(x):_ 21/45—5xJ

4= [f(x) =—

Ansl = 5(12x° +8) 7
S=]f(x)=- P 6= 1f(x)= (3/2)
(3x'+8x-8) 2(8-7x)
; 3 ( 33(7x—3)2J
T=(f(x)=21 (Tx=3)*(=5+8x)+8(7x-3)) S=|fx)=-"
] (=5 +8x) |
i o 84 |11 |M
el I “
[ =[F(k)=-48] 4= [Fk)=002] dp(6+1t) ;t,
An82=[.2:[F'(k):60]}’ Ans3 = .2=[F'(k):72;958}’ Ansd = :[E__x} . %
.3:{M, 0.054} U
i 175 I |7
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Diff03 Answers for No.11996

d=(f(x)=324x+7)) 2=(f(x)=302x —7x+7)2 (6x° - 7))_

3_(f( )_;j g oy o —B2
J = X —2 (—7x—3 4= X)= (7x7_4)2

Ansl = 6(4x+2) 1
.5=[f(x)=_ 7} .6=[f(x)=—ﬁ}
(2x2+2x+7) (2x-=17)
\ , ( 21(4x+5)2J
T=(f(x)=43x+2)+9(4x+5)(3x+2)) S=f(x)=—"""_,"
L (3x+2) i

‘] dx 40t | ]
ol ar

2
1 =[F(k)=784] (5+7)

o
a

t

dP 4 h

' zg§ a-AnS4:: .2::[___-:-___} o

[F(k)_ 81 } d fx g
U

- T

o[l
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Ans2 = [1 = [F(k) = _48]}, Ans3 =

2=[F'(k)=-30] 2

, 0.487}
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Diff03 Answers for No.12889

d=(f(x)=333x-4)") .2=(f‘(x)=4(2x4+2x+11)3(8x3+2))_
3 (f() 1 j 4 [f() 49" J
J = X)=—"F—— 4= X)=—"~—
V3-2x (727 -8)
Ansl = 4(4x+2) 4
.5=(f(x)=— SJ .6=(f(x)=—ﬁJ
(2xX*+2x+7) (8x—3)
\ , { 168(2x—7)2J
T=(f(x)=2(6x+7)+18(2x=7)(6x+7)") 8=|f(x)= y
L (6x+7) i
I [dx 96 ¢ ] M
A= 7=—2 a
L 6+7) ¢
_ .]:[F'(k):16]} :[.Iz[F'(k)=348]} _ |ap 4 h
Ans2 [.22[F'(k)zO] , Ans3 2= [F(k)=9] [ Ans4 '2_[dx_ﬁ} ol @
M
.3:[M,2.337} U
L 75 I |7

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKXKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXKKKX KKK KKK KKK KKKKX KX KKKX KKK KKKK XK KXK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXKXXXKX XXX KKK XKLL KKXL LKL KKK LKL KKK LXK XKL KKK X KKKKKKKKKME6/1-6400507-0001 9XX

Diff03 Answers for No.12890
I=(f(x)=16(2x-7)") .2:(f‘(x):3(2x2—7x+7)2(4x—7))
3_(f( )_;] |y o122
R Y i KPR
Ansl = 5(6x°+2) 2
S=[f(x)=- p b= () ="357,
(2x +2x+3) (5—4x)
\ , [ 177(4x+7)2J
T=(f(x)=4(5x=6y+15(4x+7)(5x-6)") 8= f(x)=- y
L (5x—-06) i
i [dx 4t ] M
a2 ¢
[ =[F(k)=-32] A =[F(k)=184] dP(1+2t) }tz
—| = = - 296 - | =
Ans2 [.2:[1:'(/():24]}’ Ans3 .2={F'(k)=g}’ Ans4 '2_{dx_ﬁ} @
J13 e
3:{2—,0.043} U
i 169 7]
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Diff03 Answers for No.12891
d=(f(x)=48(8x-3)) .2=(f‘(x):4(4x3+5x+5)3(12x2+5))
3_(“ )__4] |y o —222
o e ZM T e (7x6—6)2
Ansl = 6(12x°-2)
S=[f(x)=- - 6= f(x)=- e
(3x'-2x-2) 2(5x-6)
\ . [ 196(4x+5)3J
T=(f(x)=4(5x-6)"+20(4x+5)(5x—-6)) 8=|f(x)=- ;
L (5x—-06) i
I de 801 M
.]={Z=ﬁ} a
1 =[F(k)=-28] 1 =F(k)=1320] dP(5+2t) ltz
Ans2 [2:[1:,(]():_56]}, Ans3 .2=[F'(k)=$}’ Ans4 _{dx_ﬁ} @
M
.3:{M,0.099} U
L 4761 I
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Diff03 Answers for No.12917

X [Page = 0021]

.2=(f’(x)=5(4x2+7x+7)4(8x+7))

I=(f(x)=70(7x+3))
3 (f‘() ’ j 4= f(x) 8x ]
= X)=—7 —/— 4= X)=—
2N6-Tx (32°+5)
Ansl = 7(8x+3)
={f@):- 8} =[f(x)=—ﬁ}
(4 +3x-3) (6x-7)
2 ; [ 93 ( 3+5x)J
T=(f(x)=15(=3+5x)(3x-8)+3(-3+5x)) 8=| fi(x)=—
(3x-8)*
i {dx 56 ¢ } M|
A= a
a7,y ¢
[I=[F(k)=80] [F'(k)=132] ) a1 h
A"S2_[2=[F'(k)=-401} Ans3 = [ —[F(k)—-44]} Ans? = [dx:ﬁ} @
M
3={M0099} U
1849 I | 7]
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Diff03 Answers for No.13099
B 3
2=(f(x)=4Q2x+2x+5) (4x+2))

d=(f(x)=35(Tx-4)"
3_(“ )__+j g p o —2
SO T aaoy M (4x°—3)
Ansl = 4(8x+5) 3
-5=(f(X)=— 5J -6=(f(x)= (3/2)J
(4x*+5x-5) 2(7-3x)
. X { 76 (3x—2)
T=(f(x)=3C2x+5+8(3x-2)(2x+5)) 8= f(x)=—"""—1"
I (2x+5) ]
I o 60: || | M
.]={E=ﬁ} a
[=[F(k)=10] A =1Fh) =78 dP(6+4t : ltz
Ans2=[2:[F'(k):32J, Ans3 = 5 F'(k)z%} , Ans4 = 'ZZ{EZK} @
[12 2 } M
3= ,3.394 U
i 5 17
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Diff03 Answers for No.13100
d=(f(x)=333x-5)")

2

X [Page = 0023]

Ansl = [ 3(8x°+2) J
S=[f(x)=- y
(2x4+2x+7)
T=(f(x)=82x+3)’ 3x+5)+3(2x+3)"
I Py 40 1 =[F(k)=30]
Ansz:[.Z:[F'(k):-S]l Ans3 = '2:[1:'(1{):4?5}, Ans4 =

.2=(ﬂx)=5(2x2+2x+11f(4x+2))
56 x° ]

A=f(x)=- 5
(8x' =5)
]
.6 = xX)=-—
2(3x-8)"""
4(2x+3f)
S=|f(x)=—"=
( ) (3x+5)
i dx 24¢ ]
o
3P

ap

NP

NQRX@® >~ X

[M

, 0.044}
4489
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Diff03 Answers for No.13411
I=(f(x)=63(7x-5)" .2=(f’(x)=3(2x4+2x+9)2(8x3+2))
3= X —2 (—3x—5 4= X)= (8x3_7)2

Ansl = 4(6x°+2) 1
S=|f(x)=- b= () ="457,

(2x3+2x+3)5 (5-2x)
X ) [ 123(3x+5)2J
T=(f(x)=3(4x-7Y +12(3x+5)(4x-T7)) 8=|f(x)=— -
L (4x-17) i
I o 241 1] | M
A= ;=ﬁ a
f = [P = 8] 1 =[F(k)=44] dP(6 +1t ) }t,
_| 1= = _ 40 _ I
2= T Tk s 2= ru =T} ‘[dx‘ﬁ } @
A7 M
.3:[2—, 0.062} U
i 147 || 7]
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Diff03 Answers for No.646101
° . i
2=(f(x)=4(3x+2x-2) (9x°+2))

I=(f(x)=60(6x-5)")
; (f( : 1 ] ) [f( : 21 4 ]
3=|f(x)=—"TFT— A==y
NT-2x (3x7—5)2
Ans = 5(4x+2) >
.5=[f(x)=— 6J -6=(f(x)=_ (3/2)J
22X +2x+7) 2(5x-8)
3 ) { 93(3x+2)2J
T=(F(x)=3(-7+5x) +15Bx+2)(-7+5x)) S=f(x)=—""",
i (=7 +5x) ]
i o 360 1] | M
A= E:ﬁ a
[=[F(k)=-20] A=1F(k)=0632] dP(6+3t ] ;l
AnS2:[.2:[F'(k):O] }, Ans3 = .2=[F'(k)=6§5} , Ans4 = :[;:ﬁ} @
M
i 121 7]
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Diff03 Answers for No.646102
=(f(x)=35(7x-8)" 2=(f(x)=402x +2x+5)3(6x +2))
5 2
3=(f(x)=—J 4= [f = ]
2y5x-8 (3x +2)
Ansl = 7(6x°+2)
S=|f(x)=- 3 O=fx)="3573, (3/2)
(2xX +2x+3) (7-2x)
\ , ( 120 (7 x — 4)]
T=(f(x)=7Bx+4)Y +9(7x-4)(3x+4)") 8= =
L (3x+4) i
d 801 M
A= ;=ﬁ a
— [F'(k)=30] 1 =1F(k) =990 dP(5+4t) }tz
= 106 _ _|ef 4
Ans2 = [ —[F(k)—-40]} Ans3 .2=[F'(k)=?}’ Ans4 _[dx_ﬁ} >l @
M
{SOIF 176} U
_ | _T—
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Diff03 Answers for No.646103
d=(f(x)=16(2x-7)) .2=(f’(x)=5(2x4—3x—3)4(8x3—3))
7 0x*
.3=(f(x)=——J 4= f(x)=———
246-7x (8x5+3)2J
Ansl = 3(8x°+2) 3
S=|f(x)=- y 6=|(x)=— o
(2x4+2x+5) 2(3x-8)
. ) [ 260(7x—8)4J
T=(f(x)=7(Bx+4) > +15(7x-8)(3x+4)") 8= fi(x)= p
L (3x+4) i
I 64t |1 | M
A= Zzﬁ a
[ =[F(k)=-12] =R (k) =624] dP(4+2t) }tz
e = - 44 - N
2= 3T el 2= r =2 _[dx_«/;} @
M
.3:[@, 0.081} U
i 289 I |7
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Diff03 Answers for No.646104
: \ i
2=(f(x)=52x +2x+11) (6x*+2))

[ 125 ]
A=|f(x)=——""7
(3x"+7)

d=(f(x)=44 (4x-7)")

vl

Ansl = 5(125%-3) 4
S={f(x)=- p b= f(x)=""""7373)
(4x°=3x-3) (3-8x)
\ ) ( 249(5x+6)2]
T=(f(x)=5(-7T+8x) +24(5x+6)(=7+8x)) 8=|f(x)=- ;
i (-7 +8x) ]
I o 100 |1 | M
.]={;=ﬁ} a
| = [F() = 14] 1 =[F(k)=580] dP(l +2t ) }t,
_|f= = _ 155 — _| ==
2= Gk ,2:{1:.(,{):7}’ " {dx‘ﬁ} @
oo M
.3:[M, 0.040} U
1369 | 7]
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Diff03 Answers for No.646105

d=(f(x)=273x-7)% .2=(f’(x)=3(2x3+2x+9)2(6x2+2))_
3
3:(f(x)=—;] .4—[f(x)—8—x2]
>-2x 2x'+7)
Ansl = 5(16x° —5) 2
S=f(x)=- . b= () ="435373,
(4x4—5x—5) (3-4x)
) ; ( 90 (2x+3)*
T=(f(x)=102x+3) (4x-3)+4(2x+3)") S=[f(x)=-—""7
i (4x-3) ]
I {dx 324 } M
e e — a
LR 16] I =[F(k)=1180] (2“) 2
AnS2:[2:[F'(k)=-72]}’ Ans3 = [F(k)_265} , Ans4 = l: } ol @
16 Y,
.3:[ 0770} U
i 9 i
X [Page = 0029]
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Diff03 Answers for No.646106
A=(f(x)=70(7x+2)") .2=(f’(x)=3(2x3+3x—3)2(6x2+3))
; (f() 3 ) P P 30 x° J
3= X)=—" — 4= X)y=—"
2y4-3x (52°+3)
Ansl = 4(6x°+5) 1
S=|f(x)=- - 6= () =75
(2xX +5x-5) (3-2x)
X ) ( 20(3x—4)3]
J=(f(x)=12(3x-4)Y (4x-7)+4(3x-4)") 8= f(x)=-—""7"
L (4x-17) i
[ @ 56t 1 | M
LA gy ;
1 =[F(k)=-40] A =1F(k)=270] P 3 h
== = - 145 - _| e _ 2
Ans2 [.2:[1:'(/{):40]}’ Ans3 .2=[F'(k):3—2}’ Ansd ‘[dx‘ﬁ} @
iz M
.3:[3—,2.806} U
i 4 I | 7]

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9,0:9.:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9.:9.0,9:9.0:9:9.0,9:9.0:9:9,0:9:9.0:0:9.0,9:9.0,9:9.0,9:9.0.9:9.0:9:9.0,9.:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢

X [Page = 0030]




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 [ YA XY A N ST WAL N [ J 1 D 0.6
Diff03 Answers for No.646107

d=(f(x)=55(5x-8)") .2=(f‘(x)=5(2x4+2x+11)4(8x3+2))_
3 (f() S — j 4= f(x) _lox
J = X)= 4 = x)=—
24 7x-=5 (2x5_7)2
Ansl = 5(8x°+2)
S=|f(x)=- p 6= f(x)= (3/2)
2x'+2x+5) 2(6-5x)
) X ( 15(7x+8)2]
T=(f(x)=21 (Tx+8)Y (2x+3)+2(7x+8)) S=|f(x)=—""""
i (2x+3) ]
o 360 |1 | M
a2 | |
[ =[F(k)=24] A =[F(k)=384] dP(6+1t ) ltz
= T N = 126 = - =
Ans2 [2:[1:'(/():-40]}’ Ans3 .2:[1:'(/():?}’ Ansd ‘[dx‘ﬁ} @
M
.3:{M,0.201} U
i 121 I | 7]
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Diff03 Answers for No.646108

.2=(f(x):4(2x2—7x—7)3(4x—7))

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXXXXXX KKK KKK XKLL XKL XKL LKL KKK LXK LXK KKK KKK K KKKKKKKKKME6/1-6400507-00032XX

| I=(f(x)=56(7x+8))
; (f() 2 j P P L J
3=|f(x)=—F7— A=1(x)=—" "7
245x-2 (5x5+7)2
Ansl = 3(6x7+2) 2
S=|f(x)=- " b= P(x)=-""3575
(2x3+2x+5) (4x-=17)
) . [ 265(3x—5)4J
T=(f(x)=153Bx-5) " (7x+6)+7(3x-5)) 8=|f(x)= -
L (7x+6) i
[ o 8ot |1 | M
.1={5=ﬁ} a
1 =[F(k)=-40] A =1F(h)=470] dP(SJrzt) }tz
~| = = - 66 - I .
Ans2 [.2=[F'(k):10]}’ Ans3 .2=[F’(k):?} , Ans4 2_[dx_1/;} @
M
.3:{—4“/3/;,0.344} U
: 45 ol
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Diff03 Answers for No.646109
d=(f(x)=35(5x-2)%

O vrer

Ansl = ( 7(6x—4) J
S=|f(x)=- -
(3x*—4x—4)
T=(f(x)=4B3x-2Y+9(4x-5)(3x=2))
1 =[F(k)=14]
[I=[F(k)=-12] ~
AnS2_[.2:[F'(k):48]}’ Ans3 = .2:{1:'(1{):%

X [Page = 0033]

.2=(f’(x)=6(2x2+2x+7)5(4x+2))

30 x° ]
2
(5x°—4)
3

.4—[f(x)—
(6x—7)(3/2)J

.6:[f(x)=—

8_(“ )_21(4x—5)2J
YT Grs2)
Y M
| odr 2.2 ¢
(6+1) t
P 1 h
}, Ans4 = :[dx_ﬁ} "l @
M
:{ﬁ,oow} U
1225 7
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Diff03 Answers for No.646110
d=(f(x)=24(4x-7)) .2=(f’(x):5(3x3—2x—2)4(9x2—2))
; (f( : 7 ) =l o) 32x°
I=1f(x)=—""FT—— A4=|f(x)=-
2’\/7)6—5 (8)64—3)2
Ansl = 7(8x+7) 4
-5=[f(X)=— gJ -6=[f(x)=_ (3/2>]
(4x*+7x+7) (=5 +8x)
, X ( 57(7x+5)2]
T=(f(x)=21(7x+5)(8x+3)+8(7x+5)) S=[f(x)=-"""""71"
i (8x+3) ]
I o 60 |1 | M
A= ;=ﬁ a
[ =[F(k)=-14] A =1Fh) =88] dP(6+2t) ltz
A”SZZ[.zz[F'(k):zo]}’ Ans3 = .2:[1:'(/{):%} o Ansd = 'Zz{ng} @
M
.3:[M,0.197} U
i 147 I
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Diff03 Answers for No.64611l1l
d=(f(x)=30(5x+38)) .2=(f’(x):3(3x3—2x—2)2(9x2—2))
3 (f() S N ] 4 [f() L J
J= xX)=- 4= x)=—
’\/3—8)6 (6)66—5)2
Ansl = 5(4x-7) 7
.5:[f(x)=— 6} -6=[f(x)= (3/2)]
2x*=T7x+7) 2(5-7x)
) X { 164(5x+7)3J
J=(f(x)=50Bx-4) " +12(5x+7)(3x—4)) S=[f(x)=- p
i (3x-4) ]
- {dx 40 ¢ } M
A=|—"T=" " a
dt (5. py ’
_ .]=[F'(k)=-36]} :[.]z[F'(k)=1360]} _ |ar 4 h
Ans2 [.2=[F’(k):24] > ASS=1 S Ry =48] A7 'Z—LIX—J;} ol @
M
.3={M,1.527} U
i 49 I
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Diff03 Answers for No.646112
I=(f(x)=55(=3+5x)"") .2=(f‘(x)=3(2x3+2x+11)2(6x2+2))
; (f() 4 j P P 42 5° J
D= X)=—" —7—7— 4= X)=—
V3-8x (72°+5)
Ansl = 4(6x*-3)
S=|f(x)=- - 6=|(x)=— o
(2x=3x-3) 2(7x-28)
; . [ 164 (4x—3)
T=(P(x)=16 (4x-3) (Tx+5)+7(4x-3)") 8= fi(x)= ;
L (7x+5) i
[dax 241 M
RIS .
1 =[F(k)=-56] A=1Fh) =252 P 2 h
—| = = - 49 - )
Ans2 [.2=[F'(k)=36]}’ Ans3 .2=[F'(k):1—6} , Ansd ‘[dx‘ﬁ} @
{uﬁ } M
=| ——,0.329 U
i 121 | 7]
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Diff03 Answers for No.646113

I=(f(x)=18(3x+2)) .2=(f’(x)=4(2x3—7x—7)3(6x2—7))_
; (f( : | ] P P 28 x° J
J = X)=—"fF—— 4= X)=—"~—
’\/3—2)6 (7)64—8)2
Ansl = 3(6x°+7)
S=|f(x)=- " 6=|F(x)=~ (3/2)
22X +7x-17) 2(7x-6)
) X [ 196(3x—5)3J
T=(f(x)=3(5x+8) +20(3x-5)(5x+8)") 8= f(x)= ;
L (5x+8) i
[ax 561 M
LA gy )
[=[F(k)=12] 1= [F(k)=876] P 3 h
Amz:[z:[F'(k):%J’ Ans3 = .2=[F'(k):%}’ Ansd = Zz{ng} @
M
:{M,o.%z} U
i 529 I |7
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Diff03 Answers for No.646114
I=(f(x)=40(5x+7)) .2=(f’(x)=7(3x4—4x+4)6(12x3—4))
3—(1’( )—;] o=l oy = —2
D= X —zm 4= X)= (3x7_8)2
Ansl = 4(8x°+2) 3
S=f(x)=- . 6= f(x)=- (3/2)
2x'+2x+7) 2(3x-28)
\ , [ 57(2x—5)2J
T=(f(x)=23x+2)+9(2x-5)(3x+2)) S=|f(x)=—"""/~
L (3x+2) i
I o 64t |1 | M
.1={5=ﬁ} a
[ =[F(k)=-20] A =1F (k) =180] dP(4+4t) }tz
~| = = - 39 - B P
Ans2 [.2=[F’(k):12]} Ans3 .2:[1:'(/():%} o Ansd ‘[dx‘ﬁ} @
M
.3:{M,1.012} U
i 25 | 7]
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Diff03 Answers for No.646115
I=(f(x)=14(2x-5)% .2=(f’(x)=3(2x3+2x+7)2(6x2+2))
; (f() 3 ] P P 21 x J
= X)="FT— 4= X)y=—"
Vox-=3 (327+5)
Ansl = 4(8x° +2) 7
S=|f(x)=- e b= f(x)=- (3/2)
(2x4+2x+7) 2(7x-3)
. ) [ 170 (2 x 7)}
T=(f(x)=2(4x+3)Y+20(2x-7)(4x+3)") 8=|1(x)= p
i (4x+3) ]
I {d 16 ¢ } M
T a
F—0) 1 =[F(k)=255] P(z“) 2
Ans2 = [ 2 [F(k) = 48]} Ans3— [F(k)_26245}, Ans4 = l:d_ —} | @
M
:[—0314} U
i 9 7]
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Diff03 Answers for No.646116
1=(f(x)=56(8x+3)") .2=(f’(x)=6(2x3+2x+7)5(6x2+2))
; (f( : 5 ) [ ey 35 x*
= X)=—" — X —_—
21/5x——6 2)
Ansl = 6(8x°+2)
S=|f(x)=- 7 (3/2)
(2x4+2x+5) 2(8 7x)
T=(f(x)=3(Tx+3)+28(3x-8)(7x+3)) [ _20006x- 8)J
L (7x+3) i
_1 48 ¢ M
e (6+7) .
[F'(k)=16] A=1Fh)=10] P 4 h
_ 74 — | ==
Ans2 = [ —[F(k)——70]} Ans3 = [F(k)_gl}, Ans4 _{dx_ﬁ} ol @
M
U
T

[M, 0.556}

961
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Diff03 Answers for No.646117
d=(f(x)=56(7x+6))

4
‘3:(“’” :_W]
4(16x°—17) J

5
(4x4—7x—7)

Ansl =

5= [f(x) =

T=(f(x)=25(-7+5x)" (8x+35)+8(-7+5x))

1 =[F(k)=216]

1 =[F(k)=42] 3
.2={F'(k):;} :

Ans2 :[2 (k) = _32]}, Ans3 =

X [Page = 0041]

. _
2=(f(x)=42x"=7x-7) (8x=17))

o)
4=|f(x)=—- 5
(3x°+5)
7
6= f‘(x)=2(6_7 o
) (f() 405(—7+5x)4J
= xX)=
(8x+5)° i
i {dx 48 ¢ } M
I=|—=—""7 a
VRPN ‘
P 2 h
Ans4 = ZZ[dx:ﬁ} "l @
M
.3:[”—17, 0.070} U
i 289 | 7]
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Diff03 Answers for No.646118

Ansl =

X [Page = 0042]

‘“”2=[2:[F(ky:44]

d=(f(x)=45(5x+3)%

2
3=f(x)=——FT—
((X) 1/5—4x]

7(9 % +4) J

.5—[ﬂx)—— :
(3xX +4x+4)

T=(f(x)=15(5x-6) (3x-5)+3(5x-6))

e 0 I =[F(k)=63]
. _[ ( )__ ]j|, Ans3 = 2_|:F'(k)_£
o 16

.2=u(m=3(2f+2x+9f(6f+2n_

A=|f(x)=-

.8=(f(x)

g
]

} , Ans4 =

P __4

18 x° J

2
(3x°+7)

(3/2)}
2(7x-5)

_216x—6f]
(3x-5) ]

48 ¢ ]

o
= a
2
(6+1) t
__} h
dx B X T @
| M
U

2

121 T

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9,0:9.:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9.:9.0,9:9.0:9:9.0,9:9.0:9:9,0:9:9.0:0:9.0,9:9.0,9:9.0,9:9.0.9:9.0:9:9.0,9.:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢



X [Page = 0043]

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXKXXXKX XXX XXX XKLL XKL LKL KKK LKL KKK KKK KKK KKK K KKKKKKKKKME6/1-6400507-00043XX

Diff03 Answers for No.646119
I=(f(x)=30(-7+5x)) .2=(f(x)=3(4x4+7x—7)2(16x3+7))
1 8 x°
-3=(f(x)=—j 4=|f(x)=——"—
V2x-5 [ (3x6+8)2J
Ansl = 5(8x°=5)
S=|f(x)=- - 6=\fx)=—"3573,
(2x4—5x+5) (3-4x)
X ) ( 164(8x—3)3J
7=(f(x)=32(8x-3) (-7+5x)+5(8x=3)") §=|f(x)=- p
L (=7+5x) i
o 48: |1 | M
i el K
1 =[F(k)=-24] A=1F(k)=132] dP(3 +3t) }tz
== = - 31 - a2
Ans2 [.2:[1:'(/():12]}’ Ans3 .2=[F'(k):1—6} , Ansd ‘[dx‘ﬁ} @
M
:[wgﬁ,o.m} U
i 338 | 7]
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Diff03 Answers for No.646120

| I=(f(x)=63(7x+5)" .2=(f‘(x):7(2x2+2x+9)6(4x+2))
( 4 ) L 28 x° J
I=f(x)=—"F— A= f(x)=—""7
3-8x (7x'+2)
Ansl = 7(12x° +8) 3
S=|f(x)=- " b= f(x)=- (3/2)
(3x*+8x-8) 2(3x-4)
. , [ 189(3x+8)2J
T=(f(x)=3(6x-5)’+18(3x+8)(6x—5)) 8= f(x)=- y
L (6x-5) i
[ (& 300 T | M
=T el ]
1 =[F(k)=-48] A =1F(k)=516] dP(5+4t) }tz
AnsZ:[2:[F,(k):_72J, Ans3 = .2=[F’(k):43—1} , Ans4d = _2:[;:$} ol @
[40«/? } M
3= ,2.566 U
i 27 I 7]
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Diff03 Answers for No.646121
1 =(f(x)=80(-5+8x)") .2=(f’(x)=4(2x3—7x+7)3(6x2—7))
3= X)= 5 (—6—7x 4= X)= (2x7_3)2
Ansl = 4(6x°+2) 3
S=|f(x)=- : b= f(x)=—""773
22X +2x+7) (7-6x)
. ) [ 190(4x+3)4J
T=(f(x)=4(6x-5)+30(4x+3)(6x-5)" 8= f(x)=- ;
L (6x-5) i
I 24 |1 | M
.1={5=ﬁ} a
[ =[F(k)=-72] A =1F(k) = 645] dP(6+4t) }tz
= ’ - - = 95 = = =
Ans2 [2=[F’(k):-28]}’ Ans3 .2=[F'(k):§} , Ansd —[dx— x} @
M
:[lwgﬁ,l.ms} U
i 75 | 7]
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Diff03 Answers for No.646122
d=(f(x)=333x-7)")

7
3: f = I/
((X) 21/7x—3]

Ans] = 7(6x"+2)
=|f(x)=- 3
(2x +2x+3)
T=(F(x)=12(4x+5) " (5x+8)+5(4x+5))
| .1=[F(k)=30] | I =[F'(k)=448]
A”SZ‘[.zz[F'(k):AoJ’ Am‘[ 2=[F(k)=9]
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.2=(f‘(x)=7(2x3+2x+11)6(6x2+2))

15 x° J

A= f(x)=—-—
(5x°+8)

:( (7 4x )(3/2)]
( 21(4x+5)
 (5x+8)

i\.

{ 4¢

dt oy
_[ﬁ_i}
B dx_ﬁ
84/2 /65

4225

} Ans4 =

B

i

, 0.022}

|

M
a
t
h
@
M
U

T
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Diff03 Answers for No.646123
: . i
2=((x)=6(2x +2x+9) (6x°+2))

[ 30 %° J
A=[f(x)=-—""7
(5x°—4)

I=(f(x)=63(7x-2)%)

1
’Sz(f(x):q/zxﬂl

Ansl = 4(6x°+5) 3
S=f(x)=- 5 6= f(x)= (3/2)
(2xX +5x-5) 2(2-3x)
. ) [ 365(4x+7)4J
T=(f(x)=4(Tx-6)+35(4x+7)(Tx—6)") 8= f(x)=— -
L (7x-06) i
i o 14r |1 | M
A= Zzﬁ a
[ =[F(k)=-14] A=1F (k) =210] dP(1+4t) }tz
=" T = 9 = =" ="
Ans2 [2=[F’(k):-20]}’ Ans3 .2:[1:'(/():5} , Ansd ‘[dx‘ﬁ} @
M
.3:[—8ﬁﬁ,0.094} U
1369 I
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Diff03 Answers for No.646124
I=(f(x)=60(6x+7)) .2=(f‘(x)=7(3x4+8x—8)6(12x3+8))
7 9 x*
.3:(1’@):—] 4= f(x)=——""—
247X =3 (3x3+4)2J
Ansl = 6(6x"+2) 4
S=|f(x)=- - b= () ="
(2x +2x+3) (3-8x)
) . [ 188(3x—8)3J
T=(F(x)=3(7x=3)"+28(3x-8)(7x-3)) 8= f(x)= :
L (7x-3) i
[ 24 M
LA ey .
[ =[F(k)=24] A=1F (k) =120] dP 2 h
Ans2=|"_ B Ans3 = 17 Ans4 = = _ =
" [2:[1:'(;():-32]} " -Z{F'(k)i}’ " [dx ﬁ} N z%
.3:{M “31,0.197} U
i 961 | 7]
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Diff03 Answers for No.646125

d=(f(x)=16(2x-5))) 2= (P(x)=6 (3 —4x+4) (6x—4))
3 (f‘() R — j 4 [f() 30 J
S=f(x)= 4=|f(x)=—
2T x=2 (62°+5)
Ansl = 4(8x°+2) 3
S=f(x)=- . 6= f(x)=- (3/2)
(2x4+2x+5) 2(3x-4)
X . ( 268(7x+4)3J
T=(f(x)=28(Tx+4)Y (=5+8x)+8(7x+4)" 8=|f(x)=— :
L (-5+8x) i
[ Ta 280 T | M
A= ;=ﬁ a
1 =[F(k)=48] A= [F(k)=968] dP(2+4t ) ltz
AnSZ:[.Z:[F'(k):O]}’ Ans3 = .2=[F'(k)=%}’ Ans4 = ,2:|:Ezﬁ} ol @
3= {ﬂ, 0.554} U
i 27 7]
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Diff03 Answers for No.646126
d=(f(x)=16(2x-7)") .2=(f‘(x)=4(3x2+8x+8)3(6x+8))
5 6x°
I=|f(x)=—F— 4= f(x)=——————
((x) 24/—3+5x] ) (4x4+7)2J
Ansl = 6(8x°+7) 5
S=|f(x)=- 7 6= f(x)= (3/2)
(2x4+7x+7) 2(4-5x)
) . [ 9(5x—8)2J
T=(f(x)=15(5x-8) (4x—-7)+4(5x-8)) S=f(x)=——"""71
L (4x-17) i
i ; {dx 81 }_ M
A=\"T="7"T—"" a
ey ¢
_ .1:[F'(k):50]} {.1:[F’(k)=132]} _ lap 3 h
Ans2 [2=[F’(k):-28]’ Ans3=| 5 ey =37 A -2—[dx— x} |l @
M
:[M,oml} U
i 169 I |7
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Diff03 Answers for No.646127
- X _
2=(f(x)=42x*"+2x+5) (8x +2))

=(f(x)=35(7x+8)")
; (f( ) 2 J 4= oy o132
3= X)=—" /—/— 4= X)==—""""7
242-5x (3)55—2)2
Ansl = 6(6x*+2) 2
S=|f(x)=- 7 6= f(x)=- (3/2)
(2x3+2x+5) (4x-=17)
i . ( 21(5x+8)2]
7=(f(x)=15(5x+8)* (4x+5)+4(5x+8)) §=|f(x)=-—""7"
i (4x+5) |
L[ 60 M
LA sapy .
[ =[F(k)=42] =R (k) =240 dP 4 h
Ans2=|"_ B Ans3 = 17 ||, Ans4= | —=—
" [zz[F'(k)=-28J’ " '2=[F'<k>:ﬂ’ " [dx x} e
M
.3:{—4Oﬁﬁ,1.018} U
i 147 7
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Diff03 Answers for No.646128
° . i
2=(f(x)=7Q2xX+2x+7) (6x°+2))

[ 12 5° ]
A=|f(x)=——""7
(4x°=7)

d=(f(x)=35(G5x+7)°)

s

Ansl = 4(6x°+2) 3
S=|f(x)=- : 6=|f(x)= e
(2xX +2x+3) 2(2-3x)

. ) ( 335(7x+4)4]
7= (f(x)=7(=5+8x) +40 (Tx+4) (=5 +8x)") 8=|f(x)=— -
L (-5+8x) i

I v 28 ] | M

]:[;: R 2] a

| = [F(E) =-8] 1 =[F(k)=280] dP(Z +1t) }t,

=" a - = 72 = - — = —
Ans2 [.2=[F'(k):96]}’ Ans3 ‘2:[1:,(1{):?} , Ans4 '2_[dx = x} ol @
M
:[4151/7,0.075} U
L 243 ol 7]
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X

Diff03 Answers for No.646129

[Page = 0053]

.2=(f‘(x):3(3x3+7x—7)2(9x2+7))_

I=(f(x)=42(7x+3))
3 (f( ) 1 ] p [f( ) 24 x* J
0= X)="T - 4= X)=——""——"=
/2x-3 (85 +7)
Ansl = 5(4x+2) 5
S=|f(x)=- - 6=|1(x)= e
(2x*+2x+3) 2(4-5x)
; 4 ( 4(7x—4)3J
T=(f(x)=28(Tx-4)Y (=3+5x)+5(7x—-4)") 8=|P(x)=———
B (-3+5x)
I o 24: ] | M
.]== ;5‘:'_———;—; a
I=[F(k)=12] 1 =[F(k)=272] dP(2 +1t ) 2
Ans2=[2:[F,(k):_8J, Ans3 = .ZZ{F,U{):%}, Ansd = ZZ{E_K} la
M
=[4ﬁﬁ,0.269} U
i 121 I
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Diff03 Answers for No.646130
d=(f(x)=77(7x-4)"") .2=(f‘(x)=4(2x4+2x+11)3(8x3+2))
3 (f() 4 j 4= f(x) 3550
J = X)=—"fpF—— 4= X)=—" 5
A =5+8x (5x7_4)2
Ansl = 3(4x+2) 7
.5:{f(x):— 4J -6=[f(x)= (3/2)]
(2xX*+2x+7) 2(2-7x)
. ) { 236(7x+4)3J
T=(f(x)=28(Tx+4Y (6x-5)+6(7Tx+4)") 8=|f(x)=- :
i (6x—5) ]
I o 28: |1 | M
A= Ezﬁ a
[ =[F(k)=24] A =1F(k)=930] dP(2+2t ] ltz
—| 4= - - 55 - I
Ans2 [2:[F'(k)=-36]}’ Ans3 .2:[1:'(/{):?} o Ansd '2‘[dx ‘1/;} @
M
.3:{M,0.151} U
i 243 I
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